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1. The following statements all refer to the odd-numbered triangle (shown on the right). 35 &
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b) The first I5 terms of the following series (just give an expression for the answer — you don’t have to calculate the
actual number by hand): 2 g gy 36
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3. Simplify each as a single term, or single binomial coefficient.
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4. The first 5 rows of triangular pattern is shown below, where all terms are multiples of 5. For reference, the bolded
“40" is the 2™ term of the 4" row, and is also the 3™ term of the 2" column. The bolded “70” is the 4™ term of the 5%"

row, and also the 2" term of the 4™ column. 3
N
5
10 15 . et
20 25. 30 5+ 5(n-) tsn+h +term. /nQZ‘M' o
35 40 45 50 S , s 817 o oV
"7 7 5560 65 70 75 T Jwe la Jidet
56 85 qu 45 100(105). | e NF“" b)au }"N‘sbz
a) What is the 6" term of the 6" row? . ¢
G+ntevn of-bth row s, 5+5(20) =] 05 ) V) s W e wlf'{
12e3ed 540 2 1OV " 5164 Jonm _ 9"} \
2 2 0’.92 (J'\‘
AT K
b) Term Tisstheql_f;;"‘ term of the 42" column. In which row is term T? M %
5\

\ ; Yand row was 15 col up row wiren T’

— S 42415 - 1= 5
o ‘“‘J s WS | 56+h row | - T

c) Find an expression, in terms of k, for the 3 term of the k" column. This r;\gi//be a challenge, so make sure
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6. Express the following as a difference of two Fibonacci numbers. (hint: use telescoping!)
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